blocks | defect matrix blocks | defect matrix
G: 1 1 8 X 6 20 0 8321 = X184+, P18+
2 0 921 = X2+, P2+ 21 0 4682 = X20,0, 20,0
3 0 391 = X4,0, P10 22 0 4683 = X20,1, 20,1
4 0 392 = X4,1,¥4,1 23 0 11701 = X214+, P21+
5 0 922 = X5,0, ¥5,0 24 0 7801 = X28,0, 24,0
6 0 923 = X5,1,¥5,1 25 0 7802 = X28,1, 24,1
7 0 1301 = X6+, Yo+ 26 0 10401 = x29,0, ¥25,0
8 0 4681 = X9+, Po+ 27 0 10402 = x29,1, 25,1
9 0 5201 = X114, P11+
10 0 2601 = X13,0, ¥13,0 2.G : 28 1 8x6
11 0 2605 = X13,1, P13,1 297 0 4165 = X31+; P27+
12 0 | 3511 = X140, P14,0 30=29| 0 4166 = x32+, P28+
13 0 3515 = X14,15 P14,1 31 0 5209 = X35+ P31+
14 0 3901 = X15,05 $15,0 32 0 8322 = X374, ¥33+
15 0 3905 = X15,15 P15,1 33 0 8323 = X39+5 P35+
16 0 4161 = X16,0, £16.0 34 0 5203 = X42,0, ¥37,0
17 0 4162 = X16,1, ¥16,1 35 0 5204 = X42,1, 37,1
18 0 4163 = X17,05 P17,0 36 0 10403 = X434+, P38+
19 0 4164 = X17,1, P17,1 37 0 1560, = X49+, P42+
Block 1: ®Y1,0 P1,1 P80 ¥8,1 ¥23,0 ¥23,1
i =x10 1 . vro0 = 1
12 = X1,1 . 1 Y11 = 12
90, = X8,0 1 . 1 . w80 = 89,
905 = X8,1 1 1 . . w81 = 895
12801 = xo3+ 1 1 w230 = 640,
12802 = xo25+ . 1 1 231 = 6409
7291 = X27,0 1 . 1 .
7292 = X27,1 1 1



Block 28:

©26,0 ¥26,1 $40,0 P40,1 P41,0 P41,1

401 = x30,0
402 = X301
4801 = Xx41,0
4802 = x41,1
12803 = X45+
12804 = X47+
10801 = x51,0

10802 = x51,1

1

1 1 .
1 1
1 1
1 1
1 . 1
1 1

$26,0
©26,1
40,0
©40,1
©41,0
©41,1

40
40,
440,
440,
6405
640,



